Design for MSI RTX 2070 GAMING Z 8G

D ®
Bltspawer rE%?%OHEH&E‘Z@E%EQ%E@DRGB?ﬁﬂ% . EE#F
Digital RGB PIN on @motherboard or @other equipment.
B0 T RS @ H 12 % ADRGBIEHE - @ M2.5 1218 3@
o (2 (@ EREEzBA 4R
o2 ==\ @ R 1R
Stepl Step2 @ M2.5x 6 KB4 7%
BREBRERL RS - FRGPUE - BLEDRIRME R LK TR w (5) BP-VG2070MG 14
First, remove the air cooling system, and clean the GPU. Install the / 6 1.0 ZkEzmump 3k
Then install back to the original backplane. water block @) M2.5x8 KBk 6%
. A N - e S AL S EH DRGBIZHIZ (F 215) _ : =N IRER
E%@[ﬂ%m&\%éﬁ =] /EGPUE ’ Eﬁm@}?rﬁ]ﬂi ﬁz\zﬂ(/?% motherboard DRGB Multi Function Controller(Not included)
L DRGBFEAIZ(F £11%) )
Accessories
(1) M2.5Nut 3PCS
@ Original Thermal pad 4 PCS
@ Original backplane =D 1 PCS
@ M2.5 x 6 mm screw 7 PCS
@ BP-VG2070MG 1PCS
@ 1.0 mm Thermal pad 3 PCS
@ M2.5 x 8 mm screw 6 PCS

[Hes

(1 M2.5 2iE 34

@ FEISHBAR 4 R

® EER 1A

X B RARERE RS P R E R (@) M2.5x6 Ekigy 7%
The original thermal pads on the back plate should

be placed back to their original position. @ BP-VG2070MG 14

BHRAMER SRR RBREUENE @ 1.0 SREMME 3K

. ZINTT i
() M2.5x8 Ekigy 6%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRABELURBENES - MEEOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MBENOABITEN - RIS SEGFUIIRE -



Bitspower’

RHERESNIERERUE

ER KA - BERRMATHERKEERNUEL - £RMEH - BEFRKRMERT
BT24NRHKRE - BERBKEREBRIN  BRRtRKMENEMI AR

Applying the thermal pad and thermal paste on correct positions.

Using appropriate amount of thermal paste.
[ 1 mm Thermal pad

Before filling in the water, please make sure all the components are installed correctly.
To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

<J 7in

BRNSAENEBRNANE

EREASAE

D FETEEEY

EE - KA - BEBIARASHERREERMME L - £FFEN - BFKRIERT
T2/ A9EKIIE - IBRERKIEREETEN - BRKRERKN S BHBHART

V1/5—hR



Bitspower’

EE : BitspowerZZ HEE ERAZEK - AFK - MABitspowerfIREER KL RER ; MEFBITEBNKLIRENERERE - KEEE KRB
ZSSﬁ*Eﬁ‘Kﬁ%ﬁ%ﬁ%ﬂEﬁﬂﬁﬁﬁ%%&ﬁ?*ﬂﬁﬁZﬁﬁﬁ'%E%Eﬁﬂ%ﬁﬁ%ﬁﬁ&°
AREKE - FOAMEBKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
% : Bitspower BUUGHRERERAEK - AiEK - MABitspowerfIRFEAKSRER ; MEFBITEMWNKIRSHBRERHE - KEEE - KRE
ZSSﬂ*Eﬁ~Kﬁ%ﬁ%ﬁ%ﬁEQ@M&E%%&EE*EHHZE@N-ﬁﬁ%ﬁﬁﬂﬁﬁ%?ﬁﬁ&°

AEKE - BIBHKRER -

AR MKA - BEERMASUHCEREEENUEL - EAREH - BRKRNBERT - ET240SHNIKIE - BRERKENEEHIN  BRRERKMENEMIMNIEER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR BKAT - BEWATASHCZREERINUE L - EAFEN - SFKROBERT - #7240 NHKIE - BRERKEREEHEIN - B RKERKNSREMBEIRL -

AREREBHERVRAELURBENES - ARV AB TR - ERBEARGUBYRE - Vl/%—_mi
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

KATRENFRIRITEURERENNS) - MBEEHBASITEN - FRAeSkAUTIE -



